





NO.13,2009,P.1 2

)

Quercus acutissima

115

115



NO.13,2009,P.1 2

Im3
3
on cm cm
Y kg/m3 g/
15 6 10.2 100 65,987  2.67 693 10.50 | 115.43
H15 14 8.6 100 109,273  3.36 1,734 15.87 123.88
37 17 9.1 100 149,269  2.53 2,766 18.53 | 162.72
18 9.0 100 150,872  2.72 2,609 17.29 144.96
H16 377 73 9.9 110 848,561  3.23 10,298 12.14 | 141.07
71 11.1 110 1,090,241 2.85 18,092 16.59 | 254.82
1 1209
280
1.86
240 | 7.44
> 200 r 0.00 76.92
0.00 0.00
160 |5 0.00 0.00 417 083 158
4 0.00 168 44.48 1313 5.66
120 13 —435 [0 39.13 46.68
D
. 170.44
80 54.86 43,56
114.04
20 - h 01.87 88.73
5623 5223
0 | | | |
115 115 327 327 327 327
H15 H16
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